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©® Draw ( / ) according to the number:

rl i 1\

N >

#® Say and write the number:
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STE(
Nomber fwe (2]

\

STE( | olag,

Colour the number in

J

- ellow

Colour the pictures in

&

2 - 4

© Underline number ( 2 ):
Example :) 1 -




ﬁ

~

B

1
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STE | obagy

N

Colour the pictures in

57 i mum
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sTeq o]
‘ .
#Example :] 5 4 - @ 2 -1

€2 -1 -3 -4-5







@ @
® @

Colour the number in ||Colour the pictures in

7 g

D Underline number ( 4 ):
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stem B

O Write the suitable number:}
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P )

B B

&
&

Colour the pictures in
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sTem T2

,
#Examplej 2 6 ‘@ @

@3 -2-1-5-4

. 4
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STE chsay

R Exercises on the numbers

! ff@m(l)to(S)

D er 2 -1
© How many stars are there ?
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sverm B

) “r‘iTe the suitable number :
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Colour the pictures in

Y |
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STEFT_: Caladig g

h

e———————— g
2 ‘5’.{"'3.
3
o e !}
ST [ 18
- oD %}
e 02 g - -~ 2
-l 33 - 3
% —t 4
% S ’ Sas -_ "
- > 55 - L
(D
” ‘as \; &
< - :
=

Colour the number in.
. 4

Colour the pictures in

© Underline number ( 7 ):

Example J 1 -

2 AETE T
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5

4

7

6
)
® Help the rat to find the cheese:

gl L L
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STE) chsay

N ee——
» Write the suitable number: BB

8 :

it
5 write the number:
| 8 | |
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M'ﬁm

sTEm G2

~cle number ( 9 ):
”~Aample :] 2-4-6 -- 8
'&1 - 3 -9 -7 -8
PE)4 - 1 - 2 - 7 -9

_ﬂ./mTe the suitable number:
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Colour the number in

v

© Underline number ( 9 ):

&Example ] 2 -3-5-9

9
G3 -7-9 -8 -
7
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r ‘ |

® Join the dots from (1 ) to ( 10 ) then
colour the picture:
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Draw ( / ) according to the number:

6 | 10 | 3

. 5

1

-3 "

® Complete in order

OEQN WO W
90000000

& :
©Say and write the number:

.10 | 10 |.10.1.10}




STE) chsas

?-" : : Exercises on the numbers
b ERe from (6 ) to ( 10 )

Write the suitable number:

...........................................................................................................

............................................................................................................

Choose the correct number as in the example:

of¥ ot

8 -9
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and trace numbers then colour the pictures:

& Count
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STE(T] clas

Q}a Notice and learn:

‘® 4

\ |

circle triangle

square

.
O

Which of these is a triangle?

(

\—

\

\

® Which of these is a circle?

S

]

V
2
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Mﬁx

sTem &

-A‘;Which of these is a squar'e?

o

circle

square

triangle

J

pe is this?

\

circle

square

triangle
g i

® What shape is this?

B 5 i
circle
triangle

. - | il
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stem B

circle

square .

triangle

32 Notice and learn

-

1% rectangle | rectangle
L1

What shape is this?

f

square triangle

rectangle

Which of these is a rectangle? §
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eneral ‘l'e ,

‘O Write the suitable number:
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stem B

D Put ( < or = )

5 9 (8 7
4]  [2 7
l 3 4 3

What shape is this?
16

(

~
l
.

square (] triangle
circle

Which of these is a square?

\_
@ Which of these is a rectangle?

f L
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STE! | oban,
© Count, add and write the number:




sTem B

v A
7 o Sy v

© Find the result:
8 +1=__ .

Bel= 4 430000
@ Put (<, = or>):]
2 +2 0 3+1]
8+0[]4+2

© Complete in the same sequence:

D Arrange from the smallest to the greatest

( Ascendingly [3 gl 2(5]1 (7
S |

o
+
O
"
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O Find the result:

4 +0=_
3+ =0 o
/’
"
] [
4- | | -
= (R r

Zime

® Arrange from the smallest to the greates
( Ascendingly ): [O 52 [10] 3 Q

- | | J
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© Find the result:
5+5= . 4 + 2

D+ 3 =0 L 4 + 4 = .

\. J

I8+ 2 =6 |1 )
8+2=10( ( )
2+3=5 ( )
2+0=0 L < )]

Eplpiigiigl

(Ascendingly ¥: [8 312194 7]
e — | J

s i N\

50 | Amira tantawy



5+2:=T

1+2:=4

9+0=9

@+}=5




